Pensieve Header: The pentagon in 8-cal culus, ignoring the hexagon.
SetDirectory["C \\drorbn\\ Acaden cPensi eve\\2012-01"1;

<< betaCal culus. m

(V=aar[l, 1] + Bar[l, 2] + yar[2, 1] + dar[2, 2]) // BForm
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({t1, t2} = {V#xda[l, 1, 2][R[1, 311, R[1, 3] **R[2, 3] **V} /. W 0) // BForm
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eqns = Sinplify[Coefficient[(t1-t2 // BCollect) /. h[3] -1, t[#]] = 0] & /@ {1, 2}
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(L+6c[2] +B (c[1] +c[2] +vC[2]?) +ac[l] (1+56c[2] +B (c[1]+c[2]))))/
(c[1] (c[1]+c[2]) (L+ac[l] +yc[2]) (L+BcC[l] +6C[2])) =
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(c[2] (c[1]+c[2]) (L+ac[l] +¥yc[2]) (L+Bc[l]+6¢C[2])) =0}
¥sol = (Sol ve[egns, {a, B, ¥, 6}] /. {a|B|& » O})[[1, 1, 2]]1 // FullSinplify
Solve:svars : Equations may not give solutions for all "solve" variables. >
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(VO = BCol lect [V /. {¥ » ¥sol, a|B|& » 0}]) // BForm
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(MOl nv »% VO) // BForm
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asol = First eSol ve[)L+ == 0, A]
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(M0lnv = VOInv /. asol) // BForm
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(MOInv /7 dP[2 » 3] // da[l, 1, 2]) #x
VOl nv % (MO // dP[1 -2, 2 - 3]) *x (MO // da[2, 2, 3])

) /1
BForm
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(tl = & %% (&8 // dP[3 4] // dA[2, 2, 3]) ** (&8 // dP[1 2, 253, 3 »4])) // BForm
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(t2 = (8 // dP[2 53, 3 -54] // da[l, 1, 2]) %% (& // da[3, 3, 4]1)) // BForm
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